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QUESTION 1

SIPOC stands for Suppliers, Inputs, , Output and Customers.
A. Production

B. Process

C. Products

D. Presentation

Correct Answer: B

QUESTION 2

Which of these might contribute to similar distributions having Unequal Variance?
A. Extreme tails

B. Outliers

C. Multiple Modes

D. All of the above

Correct Answer: D

QUESTION 3

Which statement is NOT correct about the Fitted Line Plot shown here?
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Fitted Line Plot
Yield= 1331 - 9262 Reactant
+ 4 BE3 Reactant™* 2 - 0,259 Reactart**3
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A. The independent variable is the reactant

B. If the reactant was 6 units, with 95 % confidence we would expect a minimum yield of 100 units

C. With at least 95% confidence, we can expect less than 10 units of Yield when the reactant is at a value of 1
D. A reactant value between 2 and 4 units yields around 20 to 40

Correct Answer: D

QUESTION 4

Bias is often referred to as:
A. Reproducibility

B. Linearity

C. Stability

D. Accuracy

Correct Answer: D

QUESTION 5

Training cost is $3,000 and a project required an initial investment of $12,000. If the project yields monthly savings of
$1,800 beginning after 3 months, what is the payback period in months (before money costs and taxes)?

A.4.17

B. 8.33
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C.11.33
D. 28.28

Correct Answer: C
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